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ELECTRICAL MACHINE-I

Time Allowed : 3 Hours Max. Marks : 100

'Part-A' may be attempted in first
6 pages of Answer-sheel.
‘UTIT-37’ @ ST, IAY-Yfeda & Gget
g ar & 3 A
'"Part-B’ may be attempted in rest of the
sheets of Answer-sheet.
‘grT-a’ & I, IY QR @ aTdhl
g ae g !
Answer may be given in English or
Hindi. ‘
FT 37T argar fg<t 7 g
[Part-A]
[HTT-34]

Attempt any ten questions :

foreferfiara & & R T WoR o ST frfe—

(1)

10x2=20

If the shunt field of d.c. shunt motor
becomes open what will happen ?

af d.c. T W F T s e & A
@ = B ?

P.LO;
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(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(T o0
In what way the compensating winding is
connected to the armature ?

Hafen aEfen # AR # fRg TR
ey e &2

How can the direction of rotation of d.c.
series motor can be changed.

d.c. Hifts Hiet it gaa i few ) g R
ST S § 2

Does the flux linking both the winding of
a transformer remains same ?

TR i 31 ATEFET 1 Fraf-4d Hq e

R U A @ 2
Does the fluxing a transformer core
increases with load ?

F IS & g1 W TERTR H SR &)
TfeRT G ST B2

The torque developed in a d.c. generator
is called backward torque why ?

d.c. T H foenfaa ek & Shae ek i
& o |

What will happen if a current carrying
conductor is placed in a magnetic field ?
I FE A T gL T weRd ® Amfew
Fies # T@1 S o 41 2 ?

3K-CSN-6

(1x)

(. 3%) \g00
(viii) What is the necessary condition for the
: electromagnetic induction "which
produces electromagnetic emf ?
SRITTHICH e o ol SoEgTAfesh
emf SFA o ford sTavas wd =1 2
Why the voltage induced in the armature
of d.c. motor opposes the applied
voltage ?
d.c. X F SR § Tegee A & o
et Aiees i a4l Aehell & 2

(x)

(x1)

(xi1)

How will you give the specification of a
d.c. motor ?

d.c. A 1 Wfefrer fag ger S
872

What will be happen if the number of pole
of d.c. motor increased ?

TfE d.c. WX # Uiel ! 9T 9@ < S ot
B ?

In large d.c. machine why the yoke is
made from fabricated steel ?

T Tt d.c. WY # 9 w1 Hedieefee @i
SEVIECE il R
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(xiii) How can we convert the a.c. voltage

induced in a armature into d.c. ?

AR ¥ 3¢ Ao &1 d.c. § fiFg woR
aftafiia g € 2 _
(xiv) What is cause of noise in transformer ?
TEHRR H TR 1 41 HR0T 2
Attempt any five questions :
Pttt & & ot wier wwelt o st Rrfan—
5x4=20

(i)  Define lenz's law and its effect in d.c.
motor. |

TS o T Y aReron iR aen doe. die
THh YU S |

(ii) State Faraday's laws of electromagnetic
induction.

WU w1 sRiTAfes SeRE ¥ fradl @t
ST Hifsa |

(iii) Define off-load tap changer used in
transformer.
THER H 3-8 30 =5 1 aftsey
SHifTd |

(iv) State the iron losses in a transformer.

TRAHRE & AT gifri o e i |
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(v) Write condition of maximum efficiency
of single-phase transformer.

et e TR FY sifirea < e = vd
fafed
(vi) Explain Delta-star connection in a power
~ distribution  transformer giving  the
voltage and current relationship.

SR faWy THERTR | Sl qen e @
T 0§ RR S0 HIRH H fade
HIfT |

(vil) Differentiate between motoring and
generating action of a d.c. machine.

Th d.c. AR o Wi qar sfen faman §
TR FAE |

(viii) What is the function of commutator in
case of motor and generator.

HIS A1 TR § HRII & F1 e ¥ ?
[Part-B]
[HTT-4]
Note : Attempt any three questions :

FrerfeRan o @ fordf = vl & 3o faflan—
3x20=60

Explain the constructional features of
transformers and derive the emf equatjon.

TR 1 ST 3 IR AR 9o emnf TR
! TA1fq e : )
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(a) Describe the method of cooling in
distribution and power transformer.
e qen e TEERER # et (381)
& fafg w1 foeur ifsar

(b) Nameé the variolstypes of three phase
transformer  connection and their

application.

fafi= v & @ ¥
TEERA. HPRME SIS 991 996 S9EnT
qagd |

(a) What are the conditions for parallel
operation of d.c. generators.

d.c. S & Ueret v # weiva 2 w5t o
w1 E? :

(b) Define the electrical efficiency of a d.c.
generator and the condition for maximum
efficiency.

d.c. S ki faea <& st it Sifsd
T SMfehad S&rdl o ol wid fafed |

A six pole, lap-wound shunt generator has 300
armature-conductor and a flux per pole of 0.1
Wb runs at 1000 rpm. The armature and shunt
field are 0.2 ohm and 125 ohms respectively.
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Calculate the terminal voltage when it is to take
a load current of 100 amperes, if voltage drop in
brushes is neglected.

T B% (6) Ul Y 9168 I TR T 300 o1d=R
FERT & A U et FIE K AGT 0.1 Wh 1 97
1000 F&HT 9fd e (rpm) W wRRE ¥ AR

A1 Y12 BleEH HawT: 0.2 3MeH aer 125 37Ed ¥
100 TR & e Hiz 37 T 30 fird s
1 T FTY Sl aiw F Ao firEe e
o S B |

Write short note on any two :

frretferfe & & fort < o dftrer feoqoft ol .

(a) Instrument transformer
TEH TR

(b)  All day efficiency of transformer.
TR % qof fererw e

(¢)  Auto transformer and its applications.
TS TEHRER AT 3% ST

(d) Brake test of dc motor.

dc T 1 9% T




